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BIOCHEMISTRY,  MATHS  AND COMPUTER
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Time : 3 Hrs.            Min Marks : 17

¹þãq ß h½»þ '¡' tçÞ Ày ¡âmviåÙàÊã ZàÎÂà ÑèA, âkÂÑçÞ Ñv §ýÊÂàà ¡âÂàwàuê Ñè ñ h½»þ 'r' tçÞ viåÙàÊã

ZàÎÂà h½»þ 'y' tçÞ Àãiê £ÙàÊãu ZàÎÂà ÑèÞ ñ h½»þ '¡' §ýàç yryç qÑvç Ñv §ýÊçÞ ñ yàtàÂu
§èýÌ¨uåvç¹þÊ §ýà £quàçªà â§ýuà kà y§ýmà Ñè ñ

Note : Section 'A' is objective type, containing 10 questions, is compulsory. Section

'B' consists of short answer type questions and Section 'C' consists of long

answer type  questions. Section 'A' has to be solved first. Simple calculator

is allowed.

h½»þ-'¡'h½»þ-'¡'h½»þ-'¡'h½»þ-'¡'h½»þ-'¡'(Section-'A')

âÂàÈÂàà Þâ§ým ¡âm viä£ÙàÊãu ZàÎÂàà ç Þ §çý £ÙàÊ ¥§ý uà Ààç qÞâQýuàç Þ tç Þ Àç Þ ñâÂàÈÂàà Þâ§ým ¡âm viä£ÙàÊãu ZàÎÂàà ç Þ §çý £ÙàÊ ¥§ý uà Ààç qÞâQýuàç Þ tç Þ Àç Þ ñâÂàÈÂàà Þâ§ým ¡âm viä£ÙàÊãu ZàÎÂàà ç Þ §çý £ÙàÊ ¥§ý uà Ààç qÞâQýuàç Þ tç Þ Àç Þ ñâÂàÈÂàà Þâ§ým ¡âm viä£ÙàÊãu ZàÎÂàà ç Þ §çý £ÙàÊ ¥§ý uà Ààç qÞâQýuàç Þ tç Þ Àç Þ ñâÂàÈÂàà Þâ§ým ¡âm viä£ÙàÊãu ZàÎÂàà ç Þ §çý £ÙàÊ ¥§ý uà Ààç qÞâQýuàç Þ tç Þ Àç Þ ñ
(((((Answer the following very short-answer-type questions in one

or two lines.)))))   (1  (1  (1  (1  (1x10=10)10=10)10=10)10=10)10=10)

ZàÎÂà-1. Ààç tàÂààçyè§íýà¢»þ §ýàç §ýàèÂà yà ràÝ»þ kàçð»þmà Ñè?
Which bond connects two monosaccharide?

ZàÎÂà-2. Zààç¹þãÂà tçÞ §ýàèÂà yà rÞo ywàêâo§ý tkråm Ñàçmà Ñè?
Which bond in protein is strongest bond?

ZàÎÂà-3. Íuä¾qâÙà âvâq»þ §ýà £ÀàÑÊ½à Àãâk¥ ñ
Give an example of derived lipid.

ZàÎÂà-4. nàuÊàé¨yãÂà §ýà ¥§ý §ýàuê âvâh¥ ñ
Write one function of thyroxin.

ZàÎÂà-5. β  ¡àé¨yã§ýÊ½à Ñçmä yâ§íýu Äèý¹þã¡Èv §ýàç tà¢¹þàç§ýà£½»ìþãuà tçÞ §ýàèÂà yà Zààç¹þãÂà

ÐnàÂààÂmáÊm §ýÊmà Ñè ?
Which protein tansfer active fatty acid inside mitochondria for

β

-oxidation?
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ZàÎÂà-3.

β

-¡àé¨yã§ýÊ½à §çý âwâsÂÂà jÊ½ààçÞ §ýL Íuà©uà §ýLâk¥ ñ

Describe different steps of 

β

-oxidation.

OR

¥Âkà¢t §ýà OÐnÊã§ýÊ½à mnà £quàçâªàmà âvâh¥ ñ

Describe enzyme immobilization and its applications.

ZàÎÂà-4. âÀuç ªàuç »çþ¹þà yç kÂàyÞ©uà tçÞ ÊQýjàq yãtà Ñçmä tãâ»þuÂà Öààm §ýLâk¥ ß-

 â§ýyã kÂàyÞ©uà

§ýL ÊQýjàq yãtà

  ÊQý jàq yãtà

  Ñçmä kÂàyÞ©uà

Calculate median value for B.P. range of population for given data :

Blood pressure range

  of population was

                Number of population

     B.P. range has

              OR

â§ýyã kÂàyÞ©uà tçÞ Îà§êýÊà §ýL yàÞômà 30, 31, 32, 33, 34, 35, 36, 37

/mg dl

 §íýtÎàß 2, 9, 3, 4, 8, 7, 8, 5 ÍuâQý §çý âv¥ qàuã ªàuã ñ Îà§êýÊà yàÞômà

Ñçmä tàç»þ âÂà§ýàvç ñ

Sugar concentration in a population was found 30, 31, 32, 33, 34, 35, 36,

37, 

/mg dl

 for 2, 9, 3, 4, 8, 7, 8, 5 persons, find out mode for sugar

concentration.

ZàÎÂà-5. â§ýyã §ýÈÃuå¹þÊ §çý yÞÊjÂàà¾t§ý yÞªàºþÂà §ýà w½àêÂà §ýLâk¥ ñ

Describe sructural components of a computer.

OR

wèÖààâÂà§ý Zàuàçªà tçÞ §ýÈÃuå¹þÊ §çý £quàçªà §ýà w½àêÂà §ýLâk¥ ñ

Describe application of computer in scientific experiment.

----x----

30-40, 40-50, 50-60, 60-70, 70-80 

mmHg

    50,       54,        85,       45          30

30-40, 40-50, 50-60, 60-70, 70-80 

mmHg    50,       54,        85,       45          30
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ZàÎÂà-6. ¥Âkà¢t §ýL â§íýuà qÊ màq §ýà ¨uà Zàsàw qð»þmà Ñè?

What will be effect of temperature on mode of action of enzyme.

ZàÎÂà-7. ytàÞmÊ tàÁu §ýL qáÊsàxà âvâh¥ ñ

Give definition of Arithmatic mean.

ZàÎÂà-8. Zàtàq âwjvÂà §ýà qáÊsàxà âvâh¥ ñ

Define Standard Deviation.

ZàÎÂà-9. tÀÊràç»êþ ¨uà Ñè?

What is motherboard?

ZàÎÂà-10.§ýL ràç»êþ §ýL £quàçâªàmà âvâh¥ ñ

Write the use of keyboard?

h½»þ-'r'h½»þ-'r'h½»þ-'r'h½»þ-'r'h½»þ-'r'(Section-'B')

âÂàÈÂàà Þâ§ým viä £ÙàÊãu ZàÎÂàà ç Þ §çý £ÙàÊ 150-200 ÎàÆÀâÂàÈÂàà Þâ§ým viä £ÙàÊãu ZàÎÂàà ç Þ §çý £ÙàÊ 150-200 ÎàÆÀâÂàÈÂàà Þâ§ým viä £ÙàÊãu ZàÎÂàà ç Þ §çý £ÙàÊ 150-200 ÎàÆÀâÂàÈÂàà Þâ§ým viä £ÙàÊãu ZàÎÂàà ç Þ §çý £ÙàÊ 150-200 ÎàÆÀâÂàÈÂàà Þâ§ým viä £ÙàÊãu ZàÎÂàà ç Þ §çý £ÙàÊ 150-200 ÎàÆÀ-yãtà tç Þ Àç Þ ñyãtà tç Þ Àç Þ ñyãtà tç Þ Àç Þ ñyãtà tç Þ Àç Þ ñyãtà tç Þ Àç Þ ñ
(((((Answer the following short-answer type questions with word limit

150-200)))))                                                        (3(3(3(3(3x5=15)5=15)5=15)5=15)5=15)

ZàÎÂà-1. Zààç¹þãÂà §ýL âõmãu§ý yÞÊjÂàà §ýà w½àêÂà §ýLâk¥ ñ

Describe secondary structure of protein.

OR

Ð¹þàjê §ýL yÞÊjÂàà ytlà¢¥ ñ

Explain structure of starch.

ZàÎÂà-2. ¡ªÂààÎàu §çý ÑàtàFÂà §ýà §ýàuê âvâh¥ ñ

Write functions of Pancreas hormone.

OR

Ààç ¡yÞmæÃm Äèý¹þã ¡Èv §ýà Âààt ¥wÞ yÞÊjÂàà âvâh¥ ñ

Write name and structure of two unsaturated fatty acid.

ZàÎÂà-3. qàuÚâw§ý ¡Èv ¥ây¹þà¢v §ýàç-¥Âkà¢t-'¥' tçÞ §èýyç qáÊwâmêm Ñàçmà Ñè?

How pyruvic acid converts into Acetyl co-enzyme-A?

OR

Äíý¨¹þàçk 1-6 rà¢êÄýàÐÄçý¹þ, ªvãyÊOÌ»þÑà¢»þ 3-ÄýàÐÄçý¹þ §çý Ààç ¡½àä tçÞ §èýyç qáÊwâmêm

Ñàçmà Ñè?

How does fructose 1-6-biphosphate convert into two molecules of

glyceraldehyde 3-phosphate.

ZàÎÂà-4. ¡àwæâm uäQý »çþ¹þà §çý âv¥ ytàÞmÊ tàÁu §ýL ªà½àÂàà §èýyç §ýÊçÞªàç ?

How you can calculate arithmatic mean for data with their frequency?

OR

yç¹þ ¿uàçÊã ¥wÞ £y§çý ªàä½ààçÞ qÊ ¥§ý yÞâÕàÃm â¹þÃq½àã âvâh¥ ñ

Write short note on set theory and its properties.

ZàÎÂà-5. §ýÈÃuå¹þÊ ¥ÌªààçáÊÀît ¨uà Ñè?

What is computer algorithm?

OR

§ýÈÃuå¹þÊ ¡àé¹þàçtçÎàÂà yç ¡àq ¨uà ytlmç ÑèA?

What do you understand by computer automation?

h½»þ-'y'h½»þ-'y'h½»þ-'y'h½»þ-'y'h½»þ-'y'(Section-'C')

âÂàÈÂàà Þâ§ým Àãiê £ÙàÊãu ZàÎÂàà ç Þ §çý £ÙàÊ 300-350 ÎàÆÀâÂàÈÂàà Þâ§ým Àãiê £ÙàÊãu ZàÎÂàà ç Þ §çý £ÙàÊ 300-350 ÎàÆÀâÂàÈÂàà Þâ§ým Àãiê £ÙàÊãu ZàÎÂàà ç Þ §çý £ÙàÊ 300-350 ÎàÆÀâÂàÈÂàà Þâ§ým Àãiê £ÙàÊãu ZàÎÂàà ç Þ §çý £ÙàÊ 300-350 ÎàÆÀâÂàÈÂàà Þâ§ým Àãiê £ÙàÊãu ZàÎÂàà ç Þ §çý £ÙàÊ 300-350 ÎàÆÀ-yãtà tç Þ Àç Þ ñyãtà tç Þ Àç Þ ñyãtà tç Þ Àç Þ ñyãtà tç Þ Àç Þ ñyãtà tç Þ Àç Þ ñ
(((((Answer the following long-answer type questions with word limit

300-350)))))           (5(5(5(5(5x5=25)5=25)5=25)5=25)5=25)

ZàÎÂà-1. Zààç¹þãÂà ¨uà Ñè? Zààç¹þãÂà §ýà wªàJ§ýÊ½à âvâh¥ ñ

What is protein? Write classification of protein.

OR

tàçÂààçyç§çýÊà¢»þ §ýL yãoã óæÞhvà mnà wvu yÞÊjÂàà Ñçmä ây÷àÞm §ýL Íuà©uà

§ýLâk¥ ñ

Explain the principle for formulation of straight chain and ring structure

of monosaccharide.

ZàÎÂà-2. âvqã»þ ¨uà Ñè? âvqã»þ wªàJ§ýÊ½à ¥wÞ ÊàyàuâÂà§ý ªàä½à âvâh¥ ñ

What is lipid? Write classification and chemical properties of lipid.

OR

¥Âkà¢t §ýL â§íýuà âwâo §ýL Íuà©uà §ýLâk¥ ñ

Describe the mechanism of action of enzyme.
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